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2.1
5
2.2
2.3 (T 0
1000V
1000MD
2.4
(1) ; Q=2m fCE* *10°°
Q (KVAR) f: (He)
C (U F) E: (V)
(2) -5~+10%
1.08

= + 3*2
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|| RIREEE3300V n 3300VAC || RIFERI300V “
3300VAC
~ e
6%E 25 6%E 85
/ 3¢ 60Hz 3300V / 3¢ 60Hz 3600V
% % % OKVAR % % % OKVAR
A 3300VAC 3600VAC \/‘\/ 33000VAC 3600VAC
L EaEn N R

3 ¢ 60Hz 3600V 100KVAR

3 ¢ 60Hz 3600V 100KVAR

O . BRMNEASNLLAIVLECFESRBIEREE o O . RS LLAIULES IEFEREREE -
(3300V/[ 3 )*6%=114.3V-- (3600V/[ 3 )*6%=124.7V--
2 2 2 2
X.= v = 11L=6.532(2 X.= v = 124.7° =7.775Q
Q 6KVAR/3 Q 6KVAR/3
2 2 2 2
Xe= L = 960 xX= L = O 594,
Q 100KVAR Q 100KVAR
X X
= 6.542 =5.04% = LIl =6Y%
Xce= 129.6 Xc= 129.6
O ERENRT. HBEEEREESRMEENT






